2 — f& — 1017 — 23
A oL R L—A Ly HHE A O e TR AR R

SRl

2 12 4 6 H
TR BR BT A =

KEFR T aF L R L—FY ORZEEEZEICHES $23 0 B O REgia st B
wDOLEBBYTHD,

1. F=ZY 27—k ORIER R

(1) FAAE =z —A TIHERFR A = —
(2) P4 B I A 24E 12 B 6 H 09:21 ~ 10:11
(3) FHAREH Z2fi] 24 ~ 44  nGy/h
2. =X UTRAPNIEDHEERORER R
T E A R
(1) FAA IR H SF2%E 12 4 5 B 15:00 I
= af2d 12 H 6 H 15:00
@)/ (155) J& 72/ 24 ~ 30 nGy/h
7K 8§ ~ 11 cps
1A (25 & ZEfE 16 ~ 22 nGy/h
WK 23 ~ 29 cps
i 2 1R (33) J&) 72/l 20 ~ 26 nGy/h
7K 7T ~ 10 cps
= | R (4755) 7 ZEf] 280 ~ 34 nGy/h
7 1K 8 ~ 11 cps
filx W GE) R |45 17 ~ 23 nGy/h
& 1K 9 ~ 12 cps
/N)IET (655°) JR) ZEf 34 ~ 41 nGy/h
KA (775) J& 72 35 ~ 42 nGy/h
Wit 7 (85) & 72/l 20 ~ 26 nGy/h
HVER (95) & 72 26 ~ 32 nGy/h
B (1075) B 19 ~ 24 nGy/h
3. KR & I
4. fw &

AERE RIE, AF2EE1LA 13 H (@) (250 L 7 AR EORIEME & [ — 1~ Th %,

AFHARE RN BT D B ERE - R R HT BEAR R O BRER B R
A% 1 03-5114-2126 PO A L0MF~ 1285 13ME~ 18KF




